FINAL EVALUATION REPORT [As Per Rule 35 of PP Rules, 2004]

1	Name of Procuring Agency:	State Life Insurance Corporation of Pakistan
2	Method of Procurement:	Single Stage - Two Envelope Procedure
3	Title of Procurement:	Procurement of Stationery and Printing items for State Life H&AI, Lahore Office through E-PADS
4	Tender Inquiry No:	Tender Notice # HR&A/H&AI/LHR/3/2025
5	PPRA Ref. No. (TSE)	TS561227E
6	E-pads Ref no.	F-250409081
7	Date & Time of Bid Technical Closing:	12/05/2025 at 10:00 am
8	Date & Time of Bid Technical Opening:	12/05/2025 at 10:30 am
9	Date & Time of Bid Financial Opening:	21/05/2025 at 10:30 a.m.
10	No of Bids Received:	Three (03)
11	Criteria for Bid Evaluation:	TECHICAL & FINANCIAL BIDS EVALUATION
12	Details of Bid(s) Evaluation:	Following are the details of bid evaluation:

LOT 1:
Procurement of Stationery and Printing: (Item Wise)

Sr.			M/S Multi Works		M/S Bright Star		Most Advantageous
No.	Items	Qty	Unit Price	Total Cost	Unit Price	Total Cost	Bidder
1	Air Freshener 300ml Airwick or Eq.	120	Rs 229.0	Rs 27,480	Rs 219.90	Rs 26,388	M/S Bright Star
2	Ball Point Atlas Max or Eq. (Mix color)	2500	Rs 32.0	Rs 80,000	Rs 29.95	Rs 74,875	M/S Bright Star
3	Dollar Pointer or Eq. (Mix color)	350	Rs 26.0	Rs 9,100	Rs 25.99	Rs 9,096.5	M/S Bright Star
4	Box File Large Blue (with branding as per sample)	400	Rs 332.0	Rs 132,800	Rs 314.90	Rs 125,960	M/S Bright Star
5	Paper Laser A-4 80 grams Good Quality (Indonesian / Imported) Milky White 500 Sheets each Packets or equivalent	2500 pkts	Rs 1,285.0	Rs 3,212,500	Rs 1,199.00	Rs 2,997,500	M/S Bright Star
6	Paper Laser Legal 80 grams Good Quality (Indonesian / Imported) Milky White 500 Sheets each Packets or equivalent size 8.5 X 13.5 inch	50 pkts	Rs 1,778.0	<u>Rs 88,900</u>	Rs 1,799.00	Rs 89,950	M/S Multi Works
7	Damper Plastic Fine Quality	36	Rs 51.0	Rs 1,836	Rs 44.90	Rs 1,616.4	M/S Bright Star
8	Duster Cloth 20-24-inch fine quality	700	Rs 39.0	Rs 27,300	Rs 32.90	Rs 23,030	M/S Bright Star
9	Eraser pelikan Al-30 or Eq.	200	Rs 14.0	Rs 2,800	Rs 59.90	Rs 11,980	M/S Multi Works
10	Gum Sticks 36 g large Dollar or Eq	72	Rs 197.0	Rs 14,184	Rs 189.00	Rs 13,608	M/S Bright Star
11	High Lighter mercury/Pelikan or Eq. mix color	150	Rs 57.0	Rs 8,550	Rs 54.90	Rs 8,235	M/S Bright Star
12	Lead Pencil goldfish 5000 no or Eq.	250	Rs 19.0	Rs 4,750	Rs 17.90	Rs 4,475	M/S Bright Star
13	Ledger Register 352 pages page size 12 X 8 inches	4	Rs 700.0	Rs 2,800	Rs 789.00	Rs 3,156	M/S Multi Works
14	Packing Tape- 2 Inch (50 Yard)	50	Rs 142.0	Rs 7,100	Rs 109.00	Rs 5,450	M/S Bright Star
15	Binder Clip 1.625 inches- 41 mm (1 dozen in each box)	10 box	Rs 232.0	Rs 2,320	Rs 219.00	Rs 2,190	M/S Bright Star
16	Paper Cutter Olfa or Eq.	50	Rs 78.0	Rs 3,900	Rs 71.90	Rs 3,595	M/S Bright Star
17	Permanent Marker 70 Dollar or Eq.	200	Rs 63.0	Rs 12,600	Rs 62.90	Rs 12,580	M/S Bright Star

18	Punching Machine Medium Punches minimum 20 pages	50	Rs 350.0	Rs 17,500	Rs 414.00	Rs 20,700	M/S Multi Works
19	Rough Pad Large Spiral 70g 40 pages/pad Fine Quality	80	Rs 181.0	Rs 14,480	Rs 129.00	Rs 10,320	M/S Bright
20	Rough Pad Small Spiral 70g 40 pages/pad Fine Quality	80	Rs 126.0	Rs 10,080	Rs 189.00	Rs 15,120	Star M/S Multi
21	Ruler Steel 12-inch thickness: 2mm (as per sample)	40	Rs 79.0	Rs 3,160	Rs 74.90	Rs 2,996	Works M/S Bright
22	Sharpener plastic Dux or Eq.	200			Rs 13.90	Rs 2,780	Star M/S Multi
23	Stamp Pad 6X9 cm (Lancer or Eq.)		Rs 12.0	Rs 2,400			Works M/S Bright
		24	Rs 135.0	Rs 3,240	Rs 134.90	Rs 3,237.6	Star M/S Multi
24	Stamp Pad Ink 28 ml (Shiny or Eq.) Stapler Machine 24-6 (deli or Eq.)	48	Rs 70.0	Rs 3,360	Rs 414.00	Rs 19,872	Works M/S Multi
25	staples minimum 20 pages	84	Rs 400.0	Rs 33,600	Rs 414.00	Rs 34,776	Works
26	Stapler Pin Remover (Opal or Eq.)	100	Rs 96.0	Rs 9,600	Rs 99.00	Rs 9,900	M/S Multi Works
27	Stapler Pin 24/6 (Dollar or Eq.)	1000	Rs 71.0	Rs 71,000	Rs 68.90	Rs 68,900	M/S Bright Star
28	Tissue Paper Box 150 X 2ply (Rose Petal pop up or Eq.)	800	Rs 253.0	Rs 202,400	Rs 234.00	Rs 187,200	M/S Bright Star
29	Scotch Tape 1 inch size Deer or Eq.	100	Rs 70.0	Rs 7,000	Rs 64.90	Rs 6,490	M/S Bright Star
30	Two Ring File Fiber Legal size fine quality (with branding)	1200	Rs 198.0	<u>Rs</u> 237,600	Rs 329.00	Rs 394,800	M/S Multi Works
31	Visiting Cards 300 gram imported quality	3000	Rs 10.0	Rs 30,000	Rs 11.50	Rs 34,500	M/S Multi Works
32	Envelop File Size / A-5 120g white with branding (as per sample)	5000	Rs 10.0	Rs 50,000	Rs 8.85	Rs 44,250	M/S Bright
33	Envelop Policy Size / A-4 120g	5000	Rs 16.0	Rs 80,000	Rs 7.89	Rs 39,450	Star M/S Bright
	white with branding (as per sample) Receipt Book MR carbonless paper		13.111		113 7.05	<u>R3 37,430</u>	Star M/S Multi
34	with branding 400 pages 1+3 book (as per sample)	5	Rs 1,200.0	Rs 6,000	Rs 1,990.00	Rs 9,950	Works
35	Green Note Pad with branding 100 gram 100 sheets per pad	10	Rs 1,449.0	Rs 14,490	Rs 1,400.00	Rs 14,000	M/S Bright Star
36	Double sided foam Tape 01 inch	20	Rs 68.0	Rs 1,360	Rs 129.00	Rs 2,580	M/S Multi Works
37	Officer Card 200g plastic + card holder with Ribbons	100	<u>Rs 197.0</u>	Rs 19,700	Rs 250.00	Rs 25,000	M/S Multi Works
38	Green cardboard Files good quality (with branding)	50	Rs 197.0	Rs 9,850	Rs 139.00	Rs 6,950	M/S Bright Star
39	File Cover Cardboard (with branding)	1500	Rs 42.0	Rs 63,000	Rs 27.40	Rs 41,100	M/S Bright Star
40	Stapler Machine 23/17 Large Deli or Eq.	5	Rs 5,240.0	Rs 26,200	Rs 4490	Rs 22,450	M/S Bright
41	Automatic Air Freshener Dispenser	5	Rs 2,439.0	Rs 12,195	Rs 2,419.00	Rs 12,095	Star M/S Bright
42	Machine (Air Wick or Eq.) Automatic Air Freshener Dispenser	30	Rs 526.0	Rs 15,780	Rs 514.00	Rs 15,420	Star M/S Bright
43	Refill (Air Wick or Eq.) Rat killer Medicine 40-gram kingtox	100	Rs 88.0	Rs 8,800			Star M/S Bright
	or Eq. 6 Step Aluminum folding Ladder	box	KS 88.0	KS 8,800	Rs 87.00	Rs 8,700	Star
44	Height 6.8 ft. anti slip platform, waterproof and rustproof Good Quality	1	Rs 13,801.0	Rs 13,801	Rs 14,000.00	Rs 14,000	M/S Multi Works
45	Nail Puller use for No. 88, 26/6, 24/6, 23/8, 23/10, staples. DI Office or Eq.	10	Rs 734.0	Rs 7,340	Rs 719.00	Rs 7,190	M/S Bright Star
46	Insulation Tape Nitto or Eq.	50	Rs 64.0	Rs 3,200	Rs 49.00	Rs 2,450	M/S Bright Star
47	Scotch Tape 2" size Deer or Eq.	20	Rs 136.0	Rs 2,720	Rs 129.00	Rs 2,580	M/S Bright Star
48	Wall Hanging Scenery 2X3 feet with Glass at front and Wooden Borders 2" fine quality	6	Rs 2,995.0	Rs 17,970	Rs 4,000.00	Rs 24,000	M/S Multi Works
49	Wall Hanging Scenery 2X1.5 feet with Glass at front and Wooden Borders 2" fine quality	6	Rs 1,610.0	Rs 9,660	Rs 3,000.00	Rs 18,000	M/S Multi Works
	Ceramic Dinner plates large Deep	30	Rs 830.0				M/S Multi

	The second secon			T		T	T
51	Ceramics serving Bowl (as per sample)	8	Rs 500.0	Rs 4,000	Rs 1,589.00	Rs 12,712	M/S Multi Works
52	Bowl Serving Spoon Stainless Steel (as per sample)	8	Rs 436.0	Rs 3,488	Rs 219.00	Rs 1,752	M/S Bright Star
53	Ceramic Coffee mugs with state life branding minimum 300 ml	50	Rs 542.0	Rs 27,100	Rs 499.00	Rs 24,950	M/S Bright Star
54	USB 2 GB space Kingston or Eq.	25	Rs 420.0	Rs 10,500	Rs 589.00	Rs 14,725	M/S Multi Works
55	Table Globe with stainless steel holder (7.5" x 6.5")	20	Rs 2,500.0	Rs 50,000	Rs 4,940.00	Rs 98,800	M/S Multi Works
56	Table national Flag (9" x 6") with Silver-colored stand and marble base	20	Rs 1,400.0	Rs 28,000	Rs 2,500.00	Rs 50,000	M/S Multi Works
57	Multi surface cleaner Dettol or Eq. 1	20	Rs 1,280.0	Rs 25,600	Rs 1,899.00	Rs 37,980	M/S Multi Works
58	Electro Battery Water 1.5 L	10	Rs 350.0	Rs 3,500	Rs 219.00	Rs 2,190	M/S Bright
59	Artificial plants with ceramic pots	24	Rs 6,500.0	Rs 156,000	Rs 499.00	Rs 11,976	Star M/S Bright
60	(6-inch height) Sticky Note 3X3" mix 4 color (100	250	Rs 79.0	Rs 19,750	Rs 74.90	Rs 18,725	Star M/S Bright
	sheets) File Separator 1*10	500	Rs 59.0	Rs 29,500	Rs 56.90	Rs 28,450	Star M/S Bright
61	Rubber band 400G		Rs 515.0	Rs 3,090	Rs 499.00	Rs 2,994	Star M/S Bright
62	Stock Register (320 Pages,	6 pkts			Rs 789.00	Rs 3,156	Star M/S Multi
63	13.5X8.5", 70g/page) Gel Pen Uniball Vision Elite 0.8 or	4	Rs 669.0	Rs 2,676			Works M/S Bright
64	Eq. (for signatures)	100	Rs 256.0	Rs 25,600	Rs 230.00	Rs 23,000	Star M/S Bright
65	Gel Pen Uniball Signo 0.7 or Eq. Glass / Tumbler (Fine imported	400	Rs 108.0	Rs 43,200	Rs 99.90	Rs 39,960	Star M/S Bright
66	quality) toyonasic/omroc or eq.	100	Rs 110.0	Rs 11,000	Rs 99.90	Rs 9,990	Star M/S Bright
67	Jug Jar – Glass (Fine imported quality) toyonasic/omroc or eq.	20	Rs 1,000.0	Rs 20,000	Rs 589.00	Rs 11,780	Star M/S Multi
68	Soap 75g Lux or eq.	350	Rs 98.0	Rs 34,300	Rs 99.90	Rs 34,965	Works
69	Hand wash 5-liter bottle	25	Rs 2,600.0	Rs 65,000	Rs 3,680.00	Rs 92,000	M/S Multi Works
70	Scotch bright Foam or Eq.	200	Rs 87.0	Rs 17,400	Rs 78.00	Rs 15,600	M/S Bright Star
71	Lemon max Bowl Soap 200g	200	Rs 157.0	Rs 31,400	Rs 139.00	Rs 27,800	M/S Bright Star
72	Hand wash Lifebuoy or eq. bottle 200ml	100	Rs 184.0	Rs 18,400	Rs 287.00	Rs 28,700	M/S Multi Works
73	Stamps printy with rubber Trodat 4911	50	Rs 439.0	Rs 21,950	Rs 689.00	Rs 34,450	M/S Multi Works
74	Stamps printy with rubber Trodat 4912	50	Rs 640.0	Rs 32,000	Rs 889.00	Rs 44,450	M/S Multi Works
75	Standee for holding SX2 feet flex	20	Rs 475.0	Rs 9,500	Rs 490.00	Rs 9,800	M/S Multi Works
76	Calculator 12 Digit Casio or Eq.	24	Rs 535.0	Rs 12,840	Rs 739.00	Rs 17,736	M/S Multi Works
77	Dispatch Register Thick 350 sheets	5	Rs 656.0	Rs 3,280	Rs 789.00	Rs 3,945	M/S Multi
78	or above with numbering Envelop 9-4 120 gram white (with branding as per sample)	4000	Rs 66.0	Rs 264,000	Rs 5.19	Rs 20,760	Works M/S Bright Star
79	Envelop 9-4 Window 120 gram white (with branding as per sample)	70000	Rs 9.0	Rs 630,000	Rs 4.69	Rs 328,300	M/S Bright
80	Stationery Indent Pad carbon less paper 65 gram 200 sheets per pad 1+1 Sheet (with branding as per sample)	30	Rs 833.0	Rs 24,990	Rs 699.00	Rs 20,970	Star M/S Bright Star
81	Plastic File Cover (with branding as per sample)	400	Rs 98.0	Rs 39,200	Rs 74.00	Rs 29,600	M/S Bright Star
82	Flex Printing per square feet (Star)	10000	Rs 57.0	Rs 570,000	Rs 46.80	Rs 468,000	M/S Bright
83	Letter Head Pad 135-gram matt paper (with branding as per sample)	2000 sheets	Rs 15.0	Rs 30,000	Rs 6.99	Rs 13,980	Star M/S Bright
		10000	Rs 37.0	Rs 370,000	Rs 30.99	Rs 309,900	Star M/S Bright Star
84	Flex Printing Per Square feet (China)						



86	Cloth envelope size 18X14 150g	100	Rs 95.0	Rs 9,500	Rs 85.00	Rs 8,500	M/S Bright
-	with superior quality of cloth inside		N-2 5-34-11			113 0,500	Star
87	Electric Stainless-Steel Kettle 1.8 Liter or above capacity imported Quality Kenwood/Phillips of Eq	20	Rs 4,280.0	Rs 85,600	Rs 4,995.00	Rs 99,900	M/S Multi Works
88	Hygiene Tissues white only (Rose Petal or Eq.)	200 pkts	Rs 290.0	Rs 58,000	Rs 319.00	Rs 63,800	M/S Multi Works
89	Dust Bin (Large Size) Height 1 feet	50	Rs 197.0	Rs 9,850	Rs 214.50	Rs 10,725	M/S Multi Works
90	Tea Cup fine bone China with Saucer set of 06 pcs (High Quality) as per sample	4 sets	Rs 4,500.0	Rs 18,000	Rs 3,490.00	Rs 13,960	M/S Bright Star
91	File Tray Executive Mesh with 2 racks made of good quality (as per sample)	12	Rs 1,275.0	Rs 15,300	Rs 1,199.00	Rs 14,388	M/S Bright Star
92	Sticky Flag 05 color packet	100 pkts	Rs 54.0	Rs 5,400	Rs 54.40	Rs 5,440	M/S Multi Works
93	Face Mask (Good Quality with Nose pin) 50 in each Box	100 box	Rs 184.0	Rs 18,400	Rs 164.00	Rs 16,400	M/S Bright Star
94	Punching Machine Large Heavy Duty Punches minimum 250 pages	4	Rs 7,250.0	Rs 29,000	Rs 32,000.00	Rs 128,000	M/S Multi Works
95	Luxury Officer Table set wooden VVIP Quality	4	Rs 4,500.0	Rs 18,000	Rs 9,800.00	Rs 39,200	M/S Multi Works
96	Executive Officer Table set Leather Good Quality	10	Rs 3,999.0	Rs 39,990	Rs 12,995.00	Rs 129,950	M/S Multi Works
97	Round Wall clocks 18" (with State Life branding)	20	Rs 700.0	Rs 14,000	Rs 4,500.00	Rs 90,000	M/S Multi Works
98	Trash bag pack of 30 size 24"X 36"	150	<u>Rs 197.0</u>	Rs 29,550	Rs 269.00	Rs 40,350	M/S Multi Works
99	Prayer Mats with foam (jai-e- namaz) Fine quality as per sample	20	Rs 950.0	Rs 19,000	Rs 1,289.00	Rs 25,780	M/S Multi Works
100	Glass Cleaner Liquid Glint 500 ml or Eq.	60	Rs 234.0	Rs 14,040	Rs 640.00	Rs 38,400	M/S Multi Works
101	Microfiber Cloth 12 X 18 inches as per sample	60	Rs 383.0	Rs 22,980	Rs 495.00	Rs 29,700	M/S Multi Works
102	Battery Cell size AA Toshiba or Eq.	100	Rs 66.0	Rs 6,600	Rs 54.00	Rs 5,400	M/S Bright Star
103	Battery Cell size AAA Toshiba or Eq.	100	Rs 66.0	Rs 6,600	Rs 54.00	Rs 5,400	M/S Bright Star
104	Battery Cell size D Toshiba or Eq.	24	Rs 62.0	Rs 1,488	Rs 240.00	Rs 5,760	M/S Multi Works
105	Mosquito Spray 250 ml Kingtox or Eq.	20	Rs 750.0	Rs 15,000	Rs 699.00	Rs 13,980	M/S Bright Star
DW	Liquid Soan Dispenser fine quality Faisal or Eq.	-11	11.5 1-01/-0	15 -0,700	ive and a constitution	113. 1,000	M/S Multi Works
107	BP Apparatus Analog with stethoscope Certeza or Eq.	2	Rs 4,500.0	<u>Rs 9,000</u>	Rs 4,900.00	Rs 9,800	M/S Multi Works
108	Table spoon stainless steel as per sample	42	Rs 98.0	Rs 4,116	Rs 98.00	Rs 4,116	M/S Multi Works
109	Ceramic Dessert Plates Medium As per sample	24	Rs 600.0	Rs 14,400	Rs 916.00	Rs 21,984	M/S Multi Works
110	Floor mats mesh 6X3 feet as per sample	5	Rs 1,700.0	Rs 8,500	Rs 6,600.00	Rs 33,000	M/S Multi Works
111	Floor mats mesh 2X3 feet as per sample	10	Rs 924.0	Rs 9,240	Rs 2,400.00	Rs 24,000	M/S Multi Works
112	Electric Cable roll 3/29 GM or Eq.	4 coils	Rs 6,250.0	Rs 25,000	Rs 7,240.00	Rs 28,960	M/S Multi Works
112							
112	Electric Cable roll 7/29 GM or Eq.	3 coils	Rs 1,335.0	Rs 4,005	Rs 12,540.00	Rs 37,620	M/S Multi Works
100	Electric Cable roll 7/29 GM or Eq. Cat 6 Copper Network Cable Coil	3 coils	Rs 1,335.0 Rs 51,999.0	Rs 4,005 Rs 51,999	Rs 12,540.00 Rs 240,000.00	Rs 37,620 Rs 240,000	M/S Multi Works M/S Multi Works

Winning Quantum for Lot 1: Stationery and Printing Items

Sr.	Company	Winning Quantum Amount	Most Advantageous Ranking	
1	M/S Bright Stars	Bright Stars Rs. 5,314,578		
2	M/S Multi Works	Rs. 1,344,215	2nd	
Total Financial Impact for Lot 1		ncial Impact for Lot 1 Rs. 6,658,793 [inclus		



LOT 2: Lot 2: Card Printing Machines Accessories: (Item Wise)

S#	Description	Qty.	M/s Ahmed's Ir	Most Advantageous	
Sir		4.7.	Unit Price	Total Cost	Bidder
1	HDP5000 Black Ribbon K Resin (Part No. 084060) 3000 Images Must be compatible with Fargo Card Printing Machine Model HDP 5000	25	Rs. 51,330	Rs. 1,283,250	M/s Ahmed's Infotech Solution
2	Retransfer Film (Part No. 074229) 1500 images Must		Rs. 31,034	Rs. 1,551,700	M/s Ahmed's Infotech Solution
3	Color Ribbon YMCK (Part No. 074230) 500 images Must be compatible with Fargo Card Printing Machine Model HDP 5000		Rs. 33,158	Rs. 265,264	M/s Ahmed's Infotech Solution
4	Fargo HDP5000 cleaning kit	20	Rs. 10,620	Rs. 212,400	M/s Ahmed's Infotech Solution
5	Magicard Enduro 3E Black Ribbon Must be compatible with Magicard Enduro machine	50	Rs. 9,241	Rs. 462,029	M/s Ahmed's Infotech Solution
	Total Financial Impact inclusive of all kind of	Taxes	Rs. 3,7	74,643	

M.A.B: M/s Ahmed's Infotech Solution

Any other additional/supporting information, the procuring agency may like to share: NIL

Signature:	H & AI Regional Office Lhr.
Official Stamp:	

^{*}Standard Bidding Documents (SBD).

^{*}Most Advantageous Bid (M.A.B).